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Shilpamandira Admission Test (SAT)  
Sample Question Paper 

Mathematics + Physics + Chemistry 
 

1. If x α y then (k¢c x α y q­m -) 
(a) x2 α y2   (b) x3 α y2   (c) x α y2   (d) x2 α y2 

 

2. Calculate: 0.02 x 0.12 = ?  (¢eZÑu Ll: 0.02 x 0.12 = ? ) 
(a) 0.0024   (b) 0.024   (c) 0.00024   (d) 0.24 

 

3. Find out: a4 – b4 (¢eZÑu Ll: a4 – b4) 
(a) (a – b). (a + b). (a2 + b2)  (b) (a – b). (a + b). (a + b)   
(c) (a – b). (a + b). (a2 - b2)  (d) none 

 

4. Calculate: 3.63 x 4.25 + 3.25 = ? (¢eZÑu Ll: 3.63 x 4.25 + 3.25 = ?) 
(a) 18.6775  (b) 18.5975  (c) 19.6775  (d) 19.5975 

 

5. If a2 + b2 = 0, then find the value of a and b?  (k¢c a2 + b2 = 0, q­m a J b j¡e q­h -) 
(a) a=0, b=0  (b) a=1, b=0  (c) a=0, b=1  (d) none 
 

6. Calculate: 15.125 ÷ 2.5 = ? (¢eZÑu Ll: 15.125 ÷ 2.5 = ?) 
(a) 6.05  (b) 5.06  (c) 4.76  (d) 6.15 
 

7. If x = 3cos𝜃 ; y = 3sin𝜃, then find the value of 𝑥ଶ+ 𝑦ଶ.(k¢c x = 3cos𝜃 ; y = 3sin𝜃 qu a­h 𝑥ଶ+ 𝑦ଶHl 
j¡e ¢eZÑu Ll-) 
(a) 1  (b) 8   (c) 9   (d) 3 
 

8. Simplify (plm Ll):  0.2 x 0.2 x 0.2 + 0.2 
(a) 2.08  (b) 0.208  (c) 0.28  (d) 0.25 
 

9. Simplify (plm Ll):  √98 + √8 -2√32  
(a) √2  (b) 18   (c) 2   (d) √18 
 

10. Find the mean proportion of 3 and 12. (3 Hhw 12 pwMÉ¡ c¤¢Vl jdÉpj¡e¤f¡a£ La?) 
(a) 2  (b) 4   (c) 5   (d) 6 
 

11. Find out: (a3 + b3) (a2 + b2)  (¢eZÑu Ll: (a3 + b3) (a2 + b2)  ) 
(a) a5 + a3b2 + a2b3 + b5  (b) a6 + a3b2 + a2b3 + b6 

(c) a5 + a3b3 + a3b3 + b5  (d) a6 + a3b3 + a3b3 + b6 

 

12. If 3A = 5B = 6C then A : B : C is (k¢c 3A = 5B = 6C, a¡q­m A : B : C qu -) 
(a) 6 : 5 : 10 (b) 10 : 5 : 6  (c) 10 : 6 : 5  (d) 5 : 6 : 10 

 

13. The mode of 1, 3, 2, 8, 10, 8, 3, 2, 8, 8 is (1, 3, 2, 8, 10, 8, 3, 2, 8, 8 Hl pwMÉ¡…l¦ j¡e) 
(a) 2  (b) 3   (c) 8   (d) 10 

 
14. If A = 100° of a cyclic quadrilateral ABCD, then the value of C is : 

(ABCD hªšÙÛ Qa¥i¥­SÑl A = 100° q­m C -Hl j¡e) 
(a) 50°   (b) 20°   (c) 80°   (d) 180° 

 
15. If the side of a cube is a unit and the diagonal of the cube is d unit then the relation between a and 

d will be. (HL¢V Oe­Ll HL¢V h¡ýl °cOÑÉ a HLL Hhw L­ZÑl °cOÑÉ d HLL q­m a J d -Hl pÇfLÑ q­h:) 
(a) √2𝑎= d  (b) √3𝑎 = d  (c) a = √3𝑑  (d) a = √2𝑑 
 

16. If tan 35° tan 55°= sin𝜃 , then the lowest positive value of 𝜃 will be _______. 
(tan 35° tan 55°= sin𝜃 q­m, 𝜃-Hl phÑ¢ejÀ de¡aÈL j¡e ____ q­h) 
(a) 50°   (b) 90°   (c) 45°   (d) 60° 
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17. If the ratio of principal and yearly amount be in the ratio 25 : 28, then the yearly rate of interest is 
(­L¡­e¡ Bpm J a¡l h¡¢oÑL phª¢Üj§­ml Ae¤f¡a 25 : 28 q­m h¡¢oÑL p¤¤­cl q¡l) 

(a) 3%   (b) 12%   (c) 10 
ହ

଻
%  (d) 8% 

 

18. If sin = cos, then the value of 2 will be (sin = cos, q­m 2 
(a) 30°   (b) 60°   (c) 45°   (d) 90° 
 

19. What should be subtracted from √72 to get √32 ? (√72  ­b­L La ¢h­u¡N Ll­m √32 q­h, a¡ ¢eZÑu Ll) 
(a) 2√2  (b) √2   (c) 3√2  (d)  0 
 

20. At simple rate interest of Rs 9,999 amounts to its double in 10 yrs. What is the rate of interest? 
(plm p¤¤­cl q¡­l 9,999 V¡L¡ 10 hR­l p¤¤­c-j§­m Bp­ml ¢à…Z quz a¡q­m naLl¡ p¤¤­cl q¡l La?) 
(a) 5%   (b) 11%   (c) 10 %  (d) 7% 

 

21. What is the coefficient of x° in polynomial 2x3 - 3x2 + 4x + 5? 
(2x3 - 3x2 + 4x + 5 HC hýfc£¢V­a x°-Hl pqN La?) 
(a) 3  (b) 5    (c) 7   (d) 8 

 

22. Which one in the following is correct? If tan θ = 0 then: (¢e­Ql ­L¡e¢V p¢WL? k¢c tan θ = 0 q­m -) 
(a) sin θ = 0  (b) cos θ = 0   (c) cot θ = 0   (d) None of these 

 

23. The average of the first 21 natural numbers is 11. What will be the average of the first 20 natural 
numbers? (fËbj 21¢V ü¡i¡¢hL pwMÉ¡l Ns 11 q­m fËbj 20¢V ü¡i¡¢hL pwMÉ¡l Ns La? 
(a) 10  (b)10.5   (c) 8   (d) 8.5 

 

24. A man borrowed a sum of money at 5% compound interest per annum. He repays Rs. 3,150 at the 
end of the first year and Rs 4,410 at the end of the second year so as to clear the entire loan. How 
many rupees did he borrow? (HL hÉ¡¢š² ¢LR¥ f¢lj¡Z AbÑ h¡¢oÑL 5% Qœ²hª¢Ü q¡l p¤¤­c d¡l L­l fËbj hR­ll ­n­o 
3,150 V¡L¡ Hhw ¢àa£u hR­ll ­n­o 4,410 V¡L¡ ¢c­u ­pC d¡l ­n¡d Ll­me z ¢a¢e La V¡L¡ d¡l L­l¢R­me?) 
(a) 8000  (b) 7000   (c) 9000  (d) 10000 

 

25. The value of a machine in a factory depreciates at the rate of 10% of its value at the beginning of 
the year. If its value becomes Rs. 43,740 after 3 years, what is its present value? 
(L¡lM¡e¡u hÉhq©a ­L¡­e¡ HL¢V k­¿»l j§mÉ fË¢ahRl 10% q¡­l qÊÊ¡pfË¡ç qu z 3 hRl f­l k¿»¢Vl j§mÉ k¢c 43,740 V¡L¡ 
qu, a¡q­m k¿»¢Vl haÑj¡e j§mÉ La?) 
(a) 60000  (b) 65000   (c) 55000  (d) 75000 

 

26. If the number of surfaces of a cuboid is x, the number of edges is y, the number of vertices is z and 
the number of diagonals is P, then find the value of x - y + z + P. (k¢c HL¢V Oe­Ll fªùa­ml pwMÉ¡ x, 
fË¡­¿¹l pwMÉ¡ y, n£oÑ¢h¾c¥l pwMÉ¡ z Hhw L­ZÑl pwMÉ¡ P qu, a¡q­m x - y + z + P Hl j¡e ¢eZÑu L­l¡ z) 
(a) 9  (b) 6    (c) 7   (d) 8 

 
27. If the mean of the numbers 6, 7, x, 8, y, 16 is 9 then : (6, 7, x, 8, y, 16 pwMÉ¡…¢ml Ns 9 q­m-) 

(a) x + y = 21  (b) x + y = 17   (c) x - y = 21   (d) x - y = 9 
 

28. The equation (a - 2) x2 + 3x + 5 = 0 will not be a quadratic equation for a = ? 
((a - 2) x2 + 3x + 5 = 0 pj£LlZ¢V­a a-Hl j¡e -Hl SeÉ ¢àO¡a pj£LlZ q­h e¡) 
(a) 2  (b) 3    (c) 4   (d) 5 

 

29. if ABCD is a cyclic parallelogram then A is ___.(ABCD HL¢V hªšÙÛ p¡j¡¿¹¢lL q­m A -Hl j¡e q­h) 
(a) 30°   (b) 60°   (c) 45°   (d) 90° 

 

30. The line parallel to BC of  ABC meets AB and AC at P and Q respectively. If AP = 4 cm, QC = 9 
cm and PB = AQ, then find the length of PB. ( ABC -Hl BC h¡ý pj¡¿¹l¡m plm­lM¡ AB J AC ­L 
kb¡œ²­j P J Q ¢h¾c¥­a ­Rc L­l z k¢c AP = 4 ­p¢j, QC = 9 ­p¢j, Hhw PB = AQ ­p¢j, qu a¡q­m PB-Hl °cOÑÉ 
¢eZÑu L­l¡z) 
(a) 2cm  (b) 3cm  (c) 6cm  (d) 5cm 
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31. If tan θ + cot θ = 2, then find the value of tan7 θ + cot7 θ.  
(k¢c tan θ + cot θ = 2 qu, a¡q­m tan7 θ + cot7 θ -Hl j¡e ¢eZÑu L­l¡) 
(a) 2  (b) 3    (c) 4   (d) 5 

 

32. If the ratio of length of shadow of a tower and height of the tower is 3 : 1, find the angle of 

elevation of the Sun. (HL¢V Ù¹­ñl R¡u¡l °cOÑÉ Hhw Ù¹­ñl EµQa¡l Ae¤f¡a 3 : 1 q­m, p§­kÑl Eæ¢a ­L¡Z ¢eZÑu L­l¡z) 
(a) 30°   (b) 60°   (c) 45°   (d) 90° 

 
33. A and B start a business with Rs. 15,000 and Rs. 45,000, respectively. After 6 months B received 

Rs 3,030 as profit. What is A’s profit? (A Hhw B kb¡œ²­j 15,000 V¡L¡ J 45,000 V¡L¡ ¢c­u HL¢V hÉhp¡ 
öl¦ Llmz 6 j¡p f­l B miÉ¡wn ¢qp¡­h 3,030 V¡L¡ ­fmz A -Hl miÉ¡wn La?) 
(a) 2010  (b) 1010   (c) 3010  (d) 1050 

 

34. If p + q = √13 and p - q = √5  then the value of pq is –(k¢c p + q = √13 Hhw p - q = √5  qu, a¡q­m pq 
Hl j¡e-) 
(a) 2   (b) 18   (c) 9    (d) 8 

 

35. If two cubes of length of each side 2 √6  cm are placed side by side, then the length of the diagonal of 
the cuboid so produced is – (2 √6 ­p¢j h¡ý¢h¢nø c¤¢V OeL f¡n¡f¡¢n l¡M­m Evfæ BuaOeL¢Vl L­ZÑl °cOÑÉ q­h-) 
(a) 10cm   (b) 6cm  (c) 2cm   (d) 12cm 

 
36. The mean of the data x1, x2, x3, ........, x10 is 20 then the mean of x1 + 4, x2 + 4, x3 + 4, ….. x10 + 4 

will be －(x1, x2, x3, ........, x10 l¡¢n…¢ml Ns 20 q­m x1 + 4, x2 + 4, x3 + 4, ….. x10 + 4 l¡¢n…¢ml Ns q­h) 
(a) 20   (b) 24   (c) 40    (d) 10 

 

37. In a partnership business, the ratio of share of profit of two friends is 
ଵ

ଶ
 : 

ଵ

ଷ
, then the ratio of their 

principal is –(­L¡­e¡ Awn£c¡l£ hÉhp¡­u c¤C hå¥l fË¡ç miÉ¡w­nl Ae¤f¡a  
ଵ

ଶ
 : 

ଵ

ଷ
 q­m, a¡­cl j§md­el Ae¤f¡a -) 

(a) 2 : 3   (b) 3 : 2   (c) 1 : 1   (d) 5 : 3 
 

38. A person deposited Rs. 100 in a bank and gets the amount Rs. 121 after two years. The rate of 
compound interest is _______ %. (HL hÉ¢š² hÉ¡w­L 100 V¡L¡ Sj¡ ­l­M, 2 hRl fl pj§m Qœ²hª¢Ü ­f­me 121 
V¡L¡z h¡¢oÑL p¤¤­cl q¡l ¢Rm _____%) 
(a) 5%   (b) 12%   (c) 10%  (d) 8% 
 

39. Number of surfaces of a solid right circular cylinder is ____. (HL¢V mð hªš¡L¡l ­Q¡­Pl ampwMÉ¡ ____.) 
(a) 2   (b) 4   (c) 3    (d) 1 

 
40. If the price of 1 dozen pen is reduced by Rs 6, then 3 more pens will be got in Rs 30. calculate the 

price of one dozen pen before the reduction of price. (Lm­jl j§mÉ fË¢a XS­e 6 V¡L¡ Lj q­m 30 V¡L¡u 
BlJ ¢ae¢V ­hn£ Lmj f¡Ju¡ k¡­hz Lj¡l f§­hÑ fË¢a XSe Lm­jl j§mÉ ¢eZÑu L­l¡z) 
(a) Rs. 20   (b) Rs. 40  (c) Rs.30   (d) Rs.10 

 
41. If (3x - 2y) : (x + 3y) = 5 : 6, then find the value of (2x + 5y) : (3x + 4y). 

((3x - 2y) : (x + 3y) = 5 : 6 q­m, (2x + 5y) : (3x + 4y) ¢eZÑu L­l¡) 
(a) 17 : 19  (b) 13 : 21   (c) 12 : 16   (d) 15 : 23 

 
42. If A : B = 2 : 3, B : C = 5 : 8, C : D = 6 : 7, then A : D = ? 

(A : B = 2 : 3, B : C = 5 : 8, C : D = 6 : 7, q­m A : D = L­a¡ ?) 
(a) 2 : 7   (b) 7 : 2   (c) 5 : 8   (d) 5 : 14 

 
43. The length of a rectangle is increased by 40%. By what percentage would the width have to be 

decreased to maintain the same area? (xyëû“þöìÇþöìeîû ÷”‡ÄÅ 40% îyvþüyöì̃ y £öìœ– ~„þ£z öÇþešþœ îûy…öì“þ £öìœ ²Ìßþi 
Ÿ“þ„þîûy „þ“þ „þ›öìîÚ)  –  

(a) 28 
ସ

଻
%   (b) 27 

ସ

଻
%   (c) 26 

ସ

଻
%  (d) none 

 



Page 4 of 7 
 

44. If the ratio if the volumes of two solid spheres is 27 : 8, then the ratio of their curves surface area 
is (c¤¢V ¢e­lV ­N¡m­Ll Bua­el Ae¤f¡a 27 : 8 q­m a¡­cl hœ²a­ml ­rœg­ml Ae¤f¡a q­h) 
(a) 1 : 2   (b) 9 : 4   (c) 1 : 8   (d) 1 : 16 

 
45. In the following figure the value of x is (!˜Á¬!œ!…“þ !‰þe!Ýþöì“þ x ~îû ›y˜ £œ) – 
 (a) 10  (b) 15  
 (c) 20 (d) 25 
 

46. ABCD is a rhombus. AB = 5cm and ABC = 600. Find its area. (ABCD îûÁºöì¢îû AB = 5cm  ~î‚ 
ABC = 600  £öìœ vþz£yîû öÇþešþœ „þ“þÚ) – 

 (a)  
4

325
 cm2 (b)  

2

325
 cm2 (c)  25cm2 (d)  25

3

2
cm2 

47. If two circles do not intersect or touch each other, then the maximum number of common 
tangent/tangents is/are:(c¤¢V hªš flØfl­L ØfnÑ h¡ ­Rc e¡ Ll­m hªšc¤¢Vl p¡d¡lZ pwMÉ¡:) 
(a) 2  (b) 1   (c) 3   (d) 4   
 

48. The sexagesimal value of 
଻గ

ଵଶ
 is: (

଻గ

ଵଶ
Hl o¢øL fÜ¢a­a j¡e¢V qm) 

(a) 115°   (b) 150°   (c) 135°   (d) 105° 
   

49. Under what condition one root of the quadratic equation ax2+ bx + c = 0 is zero ? 
(­L¡e n­aÑ ax2+ bx + c = 0 ¢àO¡a pj£LlZ¢Vl HL¢V h£S n§eÉ q­h?) 
(a) a = 0   (b) b = 0   (c) c = 0   (d) None of these 
 

50. The product of two roots of the equation x2 - 7x + 3 = 0 is (x2 - 7x + 3 = 0 pj£Ll­Zl h£Sà­ul …egm) 
(a) 7  (b) -7   (c) 3   (d) -3   
 

51. Which is physical quantity? (­L¡e¢V ­i±al¡¢n) – 
(a) Water  (b) House  (c) Oil   (d) Length 

 

52. Newton’s second law of motion measures (¢eEV­el ¢àa£u N¢ap§œ f¢lj¡f L­l)–  
(a)Force  (b) Momentum (c) Acceleration (d) Angular momentum 
 

53. Which among the following gases absorb long wavelength infrared radiation emitted from the 
earth’s surface? (e£­Ql ­L¡e NÉ¡p¢V ïfªù ­b­L ¢h¢L¢la c£OÑ al‰°cOÑÉ ¢h¢nø Ah­m¡¢qa l¢nÈ ­n¡oZ L­l?) 
(a) N2  (b) O2   (c) CH4  (d) He 

 

54. Which one of the following has the highest wavelength? (e£­Ql ­L¡e¢Vl al‰°cOÑÉ ph­Q­u ­h¢n?) 
(a) X-ray  (b) Ɣ- ray  (c) Infrared ray (d) Ultraviolet ray 
 

55. In case of refraction, if the angle of incidence and the angle of refraction are 45° and 30° 
respectively, then the angle of deviation is - (fË¢apl­Zl ­r­œ Bfae ­L¡Z J fË¢aple ­L¡Z kb¡œ²­j 45° J 
30° q­m ­L±¢ZL Q¥É¢al j¡e q­h-) 
(a) 75°  (b) 15°   (c) 7.5°  (d) 315° 
 

56. The relation among electromotive force (V), work (W) and charge (Q) is 
(a¢svQ¡mL hm (V), L¡kÑ (W) J Bd¡e (Q) Hl j­dÉ pÇfÑL¢V qm-) 
(a) Q = WV (b) Q = V/W  (c) Q = V/ W2  (d) Q = W/V 
 

57. Solid state of which of the following compound is composed of ions? 
(e£­Ql ­L¡e ­k±N¢Vl L¢We AhÙÛ¡ Bue à¡l¡ N¢Wa?) 
(a) sodium chloride (b) hydrogen chloride  (c) Naphthalene (d) glucose 

 

58. Which of the following has the highest ability to conduct electricity? 
(e£­Ql ­L¡e¢Vl a¢sv f¢lhqe rja¡ phÑ¡¢dL?) 
(a) pure water   (b) aqueous solution of sugar   
(c) liquid hydrogen chloride (d) aqueous solution of acetic acid 
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59. Which of the following is the alkyl group containing two carbon atoms? 
(e£­Ql ­L¡e¢V c¤¢V L¡hÑe flj¡Z¤k¤š² AÉ¡m¢Lm NË¥f) 
(a) methyl  (b) ethyl  (c) propyl  (d) isopropyl 
 

60. A gas initially at 00C is heated so that its pressure and volume are both doubled. What will be its 
final temperature? (Eo·a¡l ­L¡e NÉ¡p­L Ešç Ll¡l g­m Eq¡l Q¡f J Buae Ei­uC ¢à…e qCmz A¢¿¹j a¡fj¡œ¡ 
La?) 
(a)  8190C   (b) 819 K  (c) 1092 K  (d) 8190F 
 

61. Which of the following greenhouse gases has the maximum contribution towards global warming? 
(¢NËeq¡Ep NÉ¡p ¢q­p­h fª¢bh£l E×ja¡ hª¢Ül SeÉ e£­Ql ­L¡e NÉ¡p¢Vl Ahc¡e ph­Q­u ­h¢n?) 
(a) N2O  (b) CH4  (c) CO2  (d) H2O Vapour 
 

62. Which of the units given below is the SI unit of resistance? (e£­Ql HLL…¢ml j­dÉ ­L¡e¢V ­l¡­dl SI HLL?) 
(a) volt  (b) ampere  (c) coulomb  (d) ohm 
 

63. Which is the β-ray emitted from a radioactive element? (­aS¢ûu ­j±m ­b­L ¢eNÑa β-l¢nÈ qm) 
(a) a stream of electrons  (b) a stream of protons  
(c) a stream of neutrons  (d) electromagnetic wave 
 

64. Which of the following can conduct electricity? (e£­Ql ­L¡e¢V a¢sv f¢lhqe Ll­a f¡­l?) 
(a) molten NaCl (b) Liquid NaCl (c) Solid NaCl  (d) aqueous solution of glucose 

65. Which oxide is electrovalent? (­L¡e¢V a¢sv­k¡S£ )– 
(a)  N2O  (b) K2O  (c) Cl2O   (d) P2O5 
 

66. Which of the following is a saturated hydrocarbon? 
(e£­Ql ­L¡e¢V HL¢V pÇf«š² q¡C­XÊ¡L¡hÑe?) 
(a) C3H6  (b) C2H4  (c) C2H2  (d) C2H6 

 

67. What will be the colour of the resulting solution when excess aqueous ammonia is added to 
an aqueous solution of copper sulphate? 
(Lf¡l p¡m­g­Vl Sm£u âh­Z A¢a¢lš² f¢lj¡Z Sm£u AÉ¡­j¡¢eu¡ ­k¡N Ll­m Evfæ âh­Zl lP L£ q­h?) 
(a) yellow  (b) green  (c) deep blue  (d) brown 
 

68. Which of the following gas helps in the depletion of ozone in the ozone layer? 
(¢e­Ql ­L¡e NÉ¡p¢V J­S¡e Ù¹­l J­S¡e r­u pq¡ua¡ L­l?) 
(a) CO2  (b) Ar   (c) CFC  (d) He 
 

69. How many grams of O2 will be required to make CO2 by burning 12 g of C completely? (C=12, 
O=16)(12 g C ­L pÇfZ̈Ñl¦­f f¤¢s­u CO2 °a¢l Ll­a La NË¡j O2 m¡N­h? (C=12, O=16)) 
(a) 32g   (b) 12g   (c) 16g   (d) 44g 
 

70. How many types of thermal expansion coefficients are there for a liquid? 
(al­ml La fËL¡l a¡f£u fËp¡lZ …Z¡ˆ B­R?) 
(a) 0   (b) 1   (c) 2    (d) 3 
 

71. If a reflected ray from a concave mirror make an angle of 45° with the normal, the angle of incidence 
will be - (­L¡eJ Aham cfÑ­Z fË¢ag¢ma l¢nÈ A¢im­ðl p­‰ 45° ­L¡Z Evfæ Ll­m Bfae ­L¡­Zl j¡e q­h) 
(a) 90°  (b) 22.5°  (c) 135°  (d) 45° 
 

72. What is the unit of conductivity? (f¢lh¡¢qa¡­ˆl HLL ­L¡e¢V?) 
(a) mho.metre-1 (b) mho.metre  (c) ohm.metre-1 (d) ohm.metre 

 
73. If a current of 0.2 ampere flows through a conductor of resistance 40 ohm, what is the potential 

difference between the two ends of the conductor? (40 ohm ­l¡d¢h¢nø HL¢V f¢lh¡q£l j­dÉ ¢c­u 0.2 
ampere a¢sv fËh¡¢qa q­m, f¢lh¡q£¢Vl c¤C fË¡­¿¹l j­dÉ ¢hih fË­ic La?) 
(a) 0.5 volt  (b) 2 volt  (c) 6 volt  (d) 8 volt 
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74. The correct order of penetrating power of 𝛼−, 𝛽−, 𝑎𝑛𝑑 𝛾 −rays is  
(𝛼−, 𝛽 −, J 𝛾 − l¢nÈl ­ice rja¡l p¢WL œ²j qm) 
(a) 𝛾 >  𝛼 >  𝛽 (b) 𝛾 >  𝛽 >  𝛼 (c)  𝛼 >  𝛽 >  𝛾 (d) 𝛽 >  𝛾 > 𝛼 
 

75. If 12C of charge flow through a conductor for 2 minutes, the electric current is  
(­L¡eJ f¢lhq£l jdÉ ¢c­u 2 ¢j¢e­V 12 C Bd¡e fËh¡¢qa q­m, a¢svfËh¡qj¡œ¡ qm) 
(a) 6 amperes  (b) 0.1 amperes (c) 24 amperes  (d) 10 amperes 

 
76. How many elements are there in the fourth period of long periodic table? 

(c£OÑ fkÑ¡u p¡l¢Zl Qa¥bÑ fkÑ¡­u La…¢m ­j±¢mL fc¡bÑ B­R?) 
(a) 8   (b) 32   (c) 16    (d) 18 
 

77. Which of the following is the unit of electric field intensity –(e£­Ql ­L¡e¢V °hc¤É¢aL ­r­œl a£hËa¡l HLL?) 
(a) volt-m  (b) volt   (c) volt/m  (d) volt/J 
 

78. Unit of resistivity in SI system (SI þ™kþ!“þöì“þ öîy•yöìBþîû ~„þ„ ) 
(a) Ohm-meter (b) Ohm/meter  (c) Ohm-cm  (d) None of these 

 

79. The freezing point of liquid decreases when pressure is increased if the liquid (­L¡e al­ml ¢qj¡ˆ Q¡f 
hª¢Ü­a k¢c L­j, a¡q­m alm¢Vl) 

 (a) Expands while freezing  (b) Contracts while freezing 
 (c) Does not change its volume while freezing  (d) None of the above  
 

80. Which of the following is an alcohol? (e£­Ql ­L¡e¢V HL¢V AÉ¡m­L¡qm?) 
(a) CH3OCH3 (b) CH3CHO  (c) CH3COOH  (d) CH3CH2OH 

 

81. Which of the following is the formula of zinc blende, an ore of zine? (e£­Ql ­L¡e¢V ¢S­ˆl BL¢lL ¢Sˆ 
­hÔ­äl pw­La?) 
(a) ZnO  (b) ZnS  (c) ZnCO3  (d) ZnSO4  
 

82. Which of the following is the formula for bauxite, ore of aluminium? 
(e£­Ql ­L¡e¢V AÉ¡m¤¢j¢eu¡­jl BL¢lL h„¡C­Vl pw­La?) 
(a) Al2O3  (b) Al2O3. H2O (c) Al2O3.2H2O (d) AlF3.3NaF 
 

83. Which among the following substance has the highest heat conductivity? (¢e­Ql ­L¡e fc¡­bÑl a¡f 
f¢lh¡¢qa¡ ph­Q­u ­h¢n?) 
(a) Silver   (b) Diamond  (c) Copper  (d) Aluminium 
 

84. Dentists use (c¿¹¢Q¢LvpLNZ hÉhq¡l L­le) 
(a) convex mirror  (b) convex lens (c) concave mirror (d) concave lens 
 

85. Charge of an electron is- (HL¢V C­mLVÊ­el Bd¡e qm-) 
(a) -3.2 x 10-19C  (b) -1.6 x 10-19C (c) 1.6 x 10-19C (d) 3.2 x 10-19C 
 

86. If 12C of charge flow through a conductor for 2 minutes, the electric current is  
(­L¡eJ f¢lhq£l jdÉ ¢c­u 2 ¢j¢e­V 12C Bd¡e fËh¡¢qa q­m, a¢svfËh¡qj¡œ¡ qm-) 
(a) 6 amperes   (b) 0.1 amperes (c) 24 amperes  (d) 10 amperes 
 

87. Which metal is lighter than water?  (­L¡e d¡a¥ S­ml ­Q­u q¡mL¡?) 
(a) Gold  (b) Sodium   (c) Bronze  (d) Iodine 

 

88. Which one is semi-conductor? (­L¡e¢V AdÑf¢lh¡q£) 
 (a) Sodium (b) Silver   (c) Silicon  (d) Carbon 
 

89. SI unit of electromotive force (SI þfÜ¢a­a a¢svQ¡mL h­ml HLL) 
 (a) Ohm  (b) Volt (c) Ampere (d) C.P.S. 
 

90. Which is amphoteric oxide (­L¡e¢V EidjÑ£ A„¡CX?) 
 (a) MgO  (b) MnO2 (c)   Al2O (d) P2O5 
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91. For a solid, how many types of thermal expansion coefficients are there? 
(L¢W­el La fËL¡l a¡f£u fËp¡lZ …Z¡ˆ B­R?) 
(a) one  (b) two   (c) three  (d) four 

92. Which of the following is the SI unit of pressure? (e£­Ql ­L¡e¢V Q¡­fl SI HLL?) 
(a) Nm2  (b) Nm4  (c) Nm   (d) N 

93. If the vapour density of a gas is 32, which among the following is its molecular weight? 
(HL¢V NÉ¡­pl h¡×fOeaÆ 32; e£­Ql ­L¡e¢V NÉ¡p¢Vl BZ¢hL JSe?) 
(a) 8  (b) 16   (c) 32   (d) 64 

94. Which of the following has the highest atomic radius? (e£­Ql ­L¡e¢V f¡lj¡Z¢hL hÉ¡p¡dÑ phÑ¡¢dL?) 
(a) K  (b) H   (c) Li   (d) Na 

95. In which of the following is covalent bond present? (e£­Ql ­L¡e¢V pj­k¡S£ håe haÑj¡e?) 
(a) hydrogen chloride (b) sodium chloride (c) lithium hydride (d) calcium oxide 
 

96. Number of groups in the long periodic table is (c£OÑ fkÑ¡u p¡l¢Z­a ­nË¢Zl pwMÉ¡ qm) 
(a) 9  (b) 13   (c) 18   (d) 19 

97. What is the value of PV for 11.2 litre of an ideal gas at STP? 
(11.2 ¢mV¡l ­L¡­e¡ BcnÑ NÉ¡­pl SeÉ STP ­a PV Hl j¡e La?) 
(a) 2 RT  (b) RT   (c) 0.5 RT   (d) 11.2 RT  

98. Present in 𝛼-particle (𝛼-LZ¡u Ef¢ÙÛa) 
(a) one proton, one neutron  (b) one proton   
(c) two proton, two neutron  (d) one electron 

99. Which is not metal? (­L¡e¢V d¡a¥ eu?) – 
(a) Antimony  (b) Sodium  (c) Selenium  (d) Zinc 

100. Which is more stable? (­L¡e¢V ­hn£ p¤¤¢ÙÛa?) 
(a) Ca   (b) Na   (c) Cl   (d) F 

 
*** 

 

 
 


